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  Question: 1  
 

Alibaba Cloud ECS products are categorized in the different instance series. Instance Series I use Intel Xeon CPU, 

Instance Series II use Haswell CPU. Which of the following statements is correct? (3 correct answers) 

A. Instance series II comes with high specifications. 

B. Compared with Instance series I, Instance series II comes with a larger instruction set，which doubles 

the Integer and floating calculation performance. 

C. You may change the instance type between Series II and III after the creation of ECS instance. 
D. Series Type II uses optimized I/O and an enhanced I/O performance can be achieved when working with 

SSD. 
 

  Answer: A, B, D  
Explanation: 
 
Once the ECS instance is created, you cannot change the CPU model 
 
 

  Question: 2  
 

If users would like to “create a directory in OSS”, the required API is 

A. True 
B. False 

 

  Answer: B  
 
 

  Question: 3  
 

To migrate the application from the prem to cloud, you need to create a customized network 

environment connects the Alibaba Cloud VPC and the traditional data center. VPC can be used in 

conjunction with to achieve this architecture 

A. vRouter 

B. Dedicated Line 

C. SDN 
D. VPN 

 

  Answer: B  
 

Explanation: 

 
As the question is about how to build connection between VPC and Traditional Data Centre, VPC and express 
connect are the options 
 
 

  Question: 4  
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Which of the following methods can you choose to provide database services when using Alibaba Cloud? 

A. Install and host a database in a Linux server 

B. Purchase a RDS instance on Alibaba Cloud 

C. Using a free preconfigured database from the marketplace 
D. Install and host a database in a Windows server 

 

  Answer: A, B, C, D  
 

 

  Question: 5  
 

The user needs to create a bucket for file uploading and management before he can store files in OSS. Which of the 

following statements are correct for OSS? 

A. Since the structures of all buckets are flat, all the objects are stored at the bucket level. 

B. Each user may have multiple buckets 

C. Once the bucket name is created, it cannot be changed 

D. The volume of the bucket shall be specified when it is created 
 
 

  Answer: A, B, C  
 

Explanation: 
 

There is no limitation for buckets 
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